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; 100kN/mM%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#Z % — - ~ — —|3mZE#BZ B -~ — — —
Lt 1.00 | 000 ~ 5625 65.45 | TN | 000 ~ 525]2.08 11.11 znLs 1.00 | 6.00 ~ 7.00 65.45 | =nS | 5,00 ~ 7.00|2.08 11.11
2 100kN/mMZ#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 | 0.00 ~ b6.563 69.04 | =St | 000 ~ 0.00) 1.65 8.82 znLs 1.00 | 6.00 ~ 6.20 69.04 | =nS | 5,00 ~ 6.20)] 1.65 8.82
P 100kN/mM%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 | 000 ~ b56.94 74.33 | =S | 000 ~ 594 2.03 10.86 znLs 1.00 | 6.00 ~ 7.90 74.33 | EnRSY | 5.00 ~ 7.90 | 2.03 10.86
4 100kN/m%Z#BZ5| 1.00 | 000 ~ 089| 11331 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1227 ~ 1529| 11331 |3mZE#BZ3 -~ — — —
ZznLst 1.00 | 0.89 ~ 867 100.00 | =nllst | 000 ~ 867272 14.564 znLs 1.00 | 5.00 ~ 1227 100.00 | =S | 5.00 ~ 1529|272 14.54
5 100kN/M%Z#BZ5 | 1.00 | 0.00 ~ 330 152.82 |3mE#BZB| 000 ~ 0.17|3.09 16.55 | 100kN/m##8Z% | 1.00 | 1055 ~ 2996 152.82 |3mZE#BZB| 2500 ~ 2996 | 3.09 16.56
Zh st 1.00 | 330 ~ 1108 100.00 | FhLS | 017 ~ 1108 53.00 16.05 Zzh st 1.00 | 500 ~ 1055 100.00 | FhLS | 5.00 ~ 25.00 | 3.00 16.05
g 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 328 152.61 |3mERBZB| 000 ~ 029|315 16.86 | 100kN/m##8Z2% | 1.00 | 1053 ~ 31.17| 152.61 |3mZEBZB| 2500 ~ 31.17| 3.15 16.86
Zh st 1.00 | 328 ~ 1107 100.00 | FhLS | 029 ~ 1107 3.00 16.05 Zh st 1.00 | 500 ~ 1053 100.00 | FhS | 5.00 ~ 25.00 | 3.00 16.05
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLsh ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh st ~ Zh s ~ ZhLs ~
100kN/mM%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/M%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ ThLlst ~ Zh LS ~ ThEs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82Z % ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ ThEsh ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#82Z% ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ ThEsh ~
100kN/m#E#BZ % ~ ImEFERD ~ 100kN/m%#82 % ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLsh ~
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